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19 = cygu (in both systems)
22 = ke ci da ɲi (system A) 
                   tsaɲi (system B)

Something is going on 
between 19 and 22.
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System B (base 10)
XY = 10X + Y
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10X+ +Y 10X
2 tsa ɲi ɲi
3 so sum sum
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5 ŋa ŋa ŋap
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7 døn dyn dyn
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9 gu
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10X = [10X]—cu                 X = 2,9 
                cu > ɕu for X = 2
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SYSTEM B (BASE 10)
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10 + X = [10+]X—[+X]
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ke [+Y]X (da [+Y]Y) = 20X (+ Y)
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ɲiɕu [+Y]X (da [+Y]Y) = 400X (+ Y)
X = 1,19; Y = 1,399

ɲiɕu pɟe-da X = ???
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SYSTEM A (BASE 20)

ke pɟe-da [2] = 30
ke pɟe-da [3] = 50
ke pɟe-da [4] = 70
ke pɟe-da [6] = 110

ke pɟe-da X = 20X – 10 



SYSTEM A (BASE 20)

ke pɟe-da X = 20X – 10 ke ko-da X = 20X – 5 

ɲiɕu pɟe-da X = 400X – 200 ɲiɕu ko-da X = 400X – 100 

½ ¼   

2 2



SYSTEM A (BASE 20)

ke pɟe-da X = 20(X-1) + 10 ke ko-da X = 20(X-1) + 15 

ɲiɕu pɟe-da X = 400(X-1) + 200 ɲiɕu ko-da X = 400(X-1) + 300 

½ ¾    

2 2¾ ½  



SYSTEM A

• BASE 20
• OVERCOUNTING FOR ½ AND ¾ 
• ɲiɕu = 400

SYSTEM B

• BASE 10
• FIVE DIFFERENT FORMS FOR EACH DIGIT

• ɲiɕu = 20







TRIVIA

• SYSTEM A (BASE 20) IS USED IN THE EVERY DAY LIFE, WHILE SYSTEM B (BASE 10) IS MORE FORMAL AND 
IT IS CALQUED FROM CLASSICAL TIBETAN.

• SYSTEM A (BASE 20) IS STILL WIDELY USED IN COUNTING AMOUNTS OF HOUSES, DOGS, BOXES, AND 
CRATES.

• WHEN STATING AN AMOUNT OR A PRICE, THE DECADE IS INCLUDED IN THE NUMBER.
 45 (ʑeŋa) WILL BECOME ʑipcu ʑeŋa (40 45).

• SEPARATE SET OF NUMERALS FOR 21-29 USED FOR THE DAYS OF THE MONTHS.



YOUR OPINION

EASIEST PROBLEM: 81/206 (39.3 %)

HARDEST PROBLEM: 11/206 (5.3 %) 



OUR OPINION

SUBMISSIONS: 217/227 (95.6 %)

AVERAGE SCORE: 15.28 / 20 

MAX SCORES: 11
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